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Ea 1,015,000
401 AIEHIX S0 2,900,000 400,000 2,500,000
= 1,885,000
o 1,015,000
01 AlZ2H| 2,900,000 400,000 2,500,000
Ol oHS0IZR M2 ZLA(A
&) 2,900,000
[ 1,885,000
Ea 1,015,000
X S3tel= SZUSK 22EHR(HEAY 1,500,000 400,000 1,100,000
= 975,000
o 525,000
401 A& HIX R0 1,500,000 400,000 1,100,000
= 975,000
o 525,000
01 AlZ8| 1,420,000 400,000 1,020,000




FA 2ZAEN
I 2Zoet
ches 2 XEONE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ool EaEE 2IZUSK LERE
= 1,420,000
= 923,000
Ea 497,000
02 Zeltl 80,000 0 80,000
oA=Zcltl 80,000
== 52,000
o 28,000
COEM =Xl MEHEEIE ZAALS (HEALS) 700,000 700,000 0
= 455,000
= 245,000
401 AlEHIZ 201 700,000 700,000 0
= 455,000
Ea 245,000
01 A28l 700,000 700,000 0
OUIIM ==X MEHSUZ THAIH(HE) 700,000
=S 455,000
s 245,000
MEHZ AIZGHE Hgteh 222 LAY (M EALY 600,000 500,000 100,000
< 390,000
s 210,000
401 Al HIZL 01| 600,000 500,000 100,000
= 390,000
= 210,000
01 Al&H| 600,000 500,000 100,000
OdEZ AIXGHE LA Aag ON2A
(e 600,000
= 390,000
o 210,000
AL El|HtSA HEAIS (HEALY) 800,000 325,000 475,000
< 520,000
= 280,000
401 Al HIZL 201 800,000 325,000 475,000
= 520,000
= 280,000
01 Al&H| 800,000 325,000 475,000
OAAIL E2|ItEA MEAIL(HE) 800,000
= 520,000
Ea 280,000
gsoiotd JAT AN (IGE FUFA A 200,000 0 200,000
== 60,000
[Ea 140,000
401 AIEHIZ R HYI 200,000 0 200,000




FA 2ZAEN
I 2Zoet
ches 2 XEONE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 60,000
s 140,000
01 Al&H| 200,000 0 200,000
ogsafictd 2 g A 200,000
= 60,000
o 140,000
ALY 30,000 52,395 N22,395
401 Al HIZ S OHbI 30,000 52,39%5 22,395
01 AlZ2H| 30,000 52,39 N22,3%
OXtet= 2 XX EHAE S8 XN EZALS
B 30,000
Argtet2 ot 4,688,000 2,132,000 2,556,000
s 2,344,000
s 703,000
s 1,641,000
401 AIEHIZ SR OHYI 4,688,000 2,132,000 2,556,000
[ 2,344,000
= 703,000
o 1,641,000
01 A28l 4,688,000 2,132,000 2,556,000
OXret2t X =oAZ LA 1,840,000
[ 920,000
= 276,000
[Ea 644,000
OXtetat Lis32h EH 618,000
[ 309,000
= 92,500
o 216,500
OYEE HHCIE HHIAIY 1,630,000
[ 815,000
= 244,500
= 570,500
OsgRy 2B JY 600,000
[ 300,000
= 90,000
= 210,000
Ate ofaf2En XA 1,200,000 200,000 1,000,000
401 AIEHIX R0 1,200,000 200,000 1,000,000
01 A28l 1,200,000 200,000 1,000,000
OJlE & ZAIEH = 1,200,000
SH&XI =X ZEAK 4,774,352 9,203,024 N4,428,672
= 1,450,000
= 630,000

Y




SN RRTED
I 2doet
el oHEXIFEX - AN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,694,352
HAXIRUE ASAL(EX) 4,171,000 8,700,000 24,529,000
= 1,450,000
= 435,000
= 2,286,000
401 AlZHIZ S 0HbI 4,171,000 8,700,000 /4,529,000
= 1,450,000
< 435,000
s 2,286,000
01 Al&H| 3,171,000 7,695,000 N\4,524,000
Odll X RHEE HAEA 3,171,000
= 1,450,000
< 435,000
[Ea 1,286,000
02 Zeltl 1,000,000 1,000,000 0
O SR =HE HASAIY 2] 1,000,000
HSR =&Y 23t 303,352 3,024 300,328
201 er23y| 2,352 3,024 A6T2
01 AtR2t2|HI 2,352 3,024 ABT2
OX=2?3s 4 =4
336,000 713 2,352
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
Oofj &2+ A=A 1,000
207 ARl 100,000 100,000
01 H1E4H] 100,000 100,000
Odf&XI=HE Sea3F2c e H
29 100,000
401 AlZHIZ S OHYI 200,000 200,000
01 A28l 200,000 200,000
OHAXISHES JIEAIE AAISEN 20,000
OHME glz MEEA(F) 22S 25,000
O=M2= 20S 25,000
OH== tliHXgassSE 228 20,000
og=nll= M2lES 50,000
OX&d= ENESY 60,000
Agh 2Z2AA HALNE HOYAL LA (HEAIY) 300,000 0 300,000
& 195,000
= 105,000
401 Al HIZL 201 300,000 0 300,000
= 195,000
o 105,000
01 AlZH| 300,000 0 300,000
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